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STATEMENT AND ARGUMENT
1. 1; It is important to ensure gender equality. Hence, I is

strong. II is weak because it focusses on trivial as-
pect.

2. 4; I is not true. Hence, I is not strong. II is not the
right way of arguing because the need of India can
be different from the need of other countries in the
world.

3. 2; I deviates from the core issue. Hence, I is weak. II
shows the compulsion clearly. Hence, II is strong.

4. 5; I is strong because of humanity ground. II is strong
because of the ground of development.

5. 5; I is strong because of educational ground, II is strong
because of the ground of liberty (of a student after a
certain age).

6. 4; Neither of the arguments is strong. It is possible

that NGOs have started agitations for some genuine

cause and therefore, it must be investigated prop-

erly.

7. 2; Only second argument is strong. We know that cit-

ing example is a bad argumentation.

8. 1; Argument I seems to be strong.

9. 4; Neither of the arguments is strong The use of term

'only' in the first argument makes is invalid.

10. 2; Only argument II seems to be strong.
11. 2; Fake identity cards and licenses are easily available

to youth allowing them to obtain alcohol so liquers
companies should be held liable from related acci-
dents so second arguments strong and first is weak.

12. 1; Problem of abuse and neglect of aged parents by their
immediate family is growing so there should be leg-
islation for providing maintenance to aged persons
so first argument is strong and second is weak.

13. 2; The funding for national space research programmes
can not be diverted because it can be helpful to pro-
vide services like telemedicine and other useful in-
formations.

14. 1; Government should force private broad caster to
space coverage of international cricket matches team
with national network which will be helpful for the
people without access to satellite television and pro-
vide them full intertainment.

15. 1; Merger of loss making government airlines into a
single entity will expand the services and be more
competitive with private and foreign airlines. So first

argument is strong.

16. 2; Our country seeks to support educationally and eco-

nomically backward classes for their overall growth

and development. Therefore, argument I is not strong.

17. 4; In order to decide whether the argument is strong

or not first decide the desirability of the statement.

Therefore, neither of the arguments is strong.

18. 4; The reason mentioned in the argument I is not con-

vincing. Therefore, argument I is not strong. Argu-

ment II does not answer the question how public

sector banks will safeguard the money of the cus-

tomers. Thus, argument II is also not strong.

19. 4; Neither of the arguments is strong. The use of term

'only' in the argument II makes it invalid.

20. 2; Only argument II seems to be strong. Hike in prices

of petroleum products affects the price structure of

most of the essential commodities. The use of term

"only" in the argument I makes it invalid.

21. 2 22. 4 23. 2 24. 2 25. 1

26.1; Studies throughout the year needs to be check at

last end of the session. Examination are well es-

tablished and generally accepted way to check so I

is a strong argument. Thinking partly and creative

pursuits could be carried on along with studies

exams are no ways hindrance to fit so II is a weak

argument.

27. 1; I. Talks about the effects of sale of tobacco prod-

ucts is restricted. The effect is valid, practical and

desirable for the society as well so T is strong to-

bacco consumption is not advisable because it is

harmful to he so the achieve to make tobacco pur-

chase convenient is a weak argument.

28. 4; Chinese toys may be cheap but they are so cheap

that can put locate toy manufactures out of busi-

ness this is not necessarily true so is not a strong

argument same way Indian toys may be of much

better quality but still the cheaper product may ef-

fect their sale. So II is also a weak argument.

29. 4; Though uniform rate of tax will certain by reduce

the work of officials but this way the purpose of

imposing income tax of equal distribution of money

will fail which of prime adjective so I, is weak,

similarly argument II also talks about a thing which

is not so important and deviates from prime objec-

tive.

30. 4; Argument I is based analogy, the condition in two

countries may differ so 'I' is weak.

We have no definite information to decide weather

the Indian electorate is so matured or not so we

can't put a question make an maturity so II is also

weak.

31. 2; I supports with trivial substance. Hence, I is not

strong. II is strong because deviation of students’

mind from their studies is not desirable. On the

other hand, an opportunity to express their feel-

ings may help students develop their personality

as such an exposure will increase their confidence

level.

32. 4; I is not strong as it is not true. II is true. Hence, II

is strong. III is also true. After all, the purpose of

an exam is to scrutinise the ability (ie, knowledge)

of a student. Hence, III is strong.

33. 1; I is strong. It may confuse people by distorting

information. II is desirable. Hence, II is true. III is

also strong because it may have a negative impact

on the person or the people involved which is not

desirable.

34. 1; I is true. Hence, I is strong. II is not strong because
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of the word ‘only’. III has no substance. Hence, III is not strong.

35. 1; I is a fact. Hence, I is strong. II is absurd. Hence, II is not strong. III also is not strong as it deviates from the

core issue.

36. 1

37. 2

38. 1

39. 2

40. 4
41. 5; I is true and desirable. Hence, I is strong. II and III are also true. The move will affect badly to the creativity of

the film.
42. 4; II is true. Unhealthy practices are not desirable. Hence, II is strong. I adds no important substances. Hence, I

is not strong. III is true up to a great extent. Hence III is also strong.
43. 5; Reject I because of the word ‘only’. Reject III because the condition of other countries may be different from the

condition of our country. II does not mention reason. Hence, II is not strong.
44. 3; III is not necessarily true. Hence, III is not strong. I is true. Competent workforce is the backbone of a company.

Hence, I is strong. II adds trivial reason. Hence, II is not strong.
45. 3; I is true but the substance mentioned is not enough to justify the move. Hence, I is not strong. II is ridiculous

and hence not strong. III is true. Such discrimination is not desirable. Hence, III is strong.
46. 1; Argument I is strong as we know the rapid growth of population hence the increasing demand for housing so

we can not ban on housing on such lands. Argument II is strong because as population growth demand for our
basic needs as house and bread also grows so making houses on farm lands will effect our productivity of
foodgrains adversely argument III is weak because it is not valid reason and does not always happens.

47. 4; Argument I is weak because this is not the only way to eradicate poverty from India. Argument II is strong
because providing govt job to atleast one member of less privileged class will make them able to think about
other options to improve their economic condition. Argument III is strong because providing govt. job is way to
improve economic condition for only less privileged class and others having quite high income have already
other options.

48. 2; Argument I is weak because we can not treat everyone in such a manner that they are effected with that as in
case of income tax.
Argument II is weak because first no. of 'Such individuals is not small so obviously it'll have significant impact
on govt. earnings. Argument III is strong because taxes paid by public used in different useful works people
who can afford to pay more tax because they have, more earnings is justified. Structure of tax is according to
earnings.

49. 4; Argument I is strong because there is lack of quality teachers in number of schools and we can not compromise
with the quality of education. Argument II is strong because after increasing the years for teachers the young
educated youth who have choses teaching as their carrier will have to wait and watch other options. Argument
III is weak because hot logical.

50. 5; Argument I is strong because it is not possible that every student fulfill the eligibility criterion if it will be
uniform so each college should be given freedom so that students can take admission according to the his
eligibility argument II is weak because passing put of different colleges are compared on the basis of colleges.
Argument III is not talking about eligibility criteria.
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